


(d) The mode of the observations 120, 110. 130, 20 Amwegiiic of flse ; _x_cu_S

110, 120, 140, 130, 120, 140, 120 is . (a) The roots of the equation x* +x+2=0 are
the co-ordinates of the point at which the

(¢) The mean deviation from the mean from the curve meets the X-axis.

observations 22, 24, 30, 27, 29, 31, 25, 28, (b) The equation 2x* +3x+ 1 =0 has real roots.
41; 42 st €K I (c) The equation tan x = 1 has infinite number of
roots.

(f) The probability of drawing a queen from a

pack of cards is (d) The maximum aumber of points at which the

equation 2 +3x2+2x+5=0 is three.

If a line passes through three given points,
then the points are said to be collinear.

(g) The distance between the points A(2, 1, _Nvuﬁm
24 %8

and B(-1, -3, 2) is B h\...l

The magnitude of a unit vector is never equal

1, 3)

=

(h) The position vector of the point »Ammw
mm . L

|
i

(i) The degree of the differential B:wﬂ%»hr

2 N? |
Twlu& +mN+ S5y=0 is | (h) If the cross product of two vectors is zero,
dx dx the vectors will be perpendicular to each
other.
‘ : Cuad Yy ; (i) In tossing a coin the probability of getting
(i [Fhe sobigon of tas cquatiy dx? | |o. 12 a head cannot be greater than one.

() If the dot product of two vectors is zero, the
vectors will be perpendicular to each other.
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